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The value of tan 75° — cot 75° is equal to
tan 75° — cot 75°

= Now, tan 75° = tan (45° + 30°)
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Find the angle between the minute hand and hour hand
of a clock when the time is 7:20.




The correct opticn is € 100°
20 22

7 hr 20 mln—?+&)— ?h
22 36
Angle traced by hour hand in 7 hr 20 min = (—x E = 220"
360

Angle traced by the minute hand in 20 min = (—x 20) =120°

Hence, required angle between the two hands = 220° -120° = 10(

The value of sin 50° — sin 70° + sin 10° is equal to

sinA- sin B= 2cos@ smT

SO HT0° 5 SOT i1

8in30° —sin70° = 2¢cos > 5

c.—sinl0° +sinl0° = 0

Prove that the value of sin 20° sin 40° sin 60° sin 80° = %

sin 20 x sin 40 x sin60 x sin80

= sin60 [sin20 x sin40 x sin80]

= \3/2[sin20 x sin(60 — 20) x sin(60 + 20)]
= \3/2[sin 3(20)/4]

= \3/2[sin 60/4]

= \3/2[V3/2 x 4]

= 3/2 x \3/8

= 3/16

Prove that
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Sketch the graph of y = sinx and sin 2x on the same scale
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